4 ShkC (5 6 Z:BIR)

T i T = AR R R

TH4 32l T
AALBIT H WR2THELO A 15 1 MNLBITHAT | TremisaT pALE
T EAMHS 9,709, 200 AFLFE HEf A A% 8,990, 000
TR E B FH 9, 417, 600
A F AAL&%H 1%
1 [FIREHE A 8, 811, 000
2 | AR A T2 8, 720, 000 AL
3 A RO R T3 8, 830, 000
4 | AR A R 8, 810, 000
RV Ve ¥ 3 A o < 8, 900, 000
6
7
8
9
10
11
- Tkt Larah B 68 E K O 4 BRI B9 D R (R 333 3 7)) 55 7 R M OVBIIF R4 4k
ﬁ%l%ﬁﬁﬂ%6&%l%\%5%&6%6%®ﬁ%t%6%\%%I$C%ﬁ®ﬁﬁ%®¢#6iﬁ
?5?ggigggiI%%K%é%%%%ﬁ&wﬂﬂﬁﬁﬁwKAH%%%@@%@%@@%%KOmT(
& | PRIASETRTTIEER 15) 2 XD,
gfg}igz?ﬁﬁmﬁmﬁé%&E%@\I%%&@%ﬁk&é%%%ﬁﬁ%($&7$3H%E$E&

¥ BFOHAT TH] T,




